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-> tabulation of luseoft2 by bicomphigh1   

 

+----------------+ 

| Key            | 

|----------------| 

|   frequency    | 

| row percentage | 

+----------------+ 

 

           |      bicomphigh1 

  luseoft2 |         0          1 |     Total 

-----------+----------------------+---------- 

         1 |        16          5 |        21  

           |     76.19      23.81 |    100.00  

-----------+----------------------+---------- 

         8 |         7          2 |         9  

           |     77.78      22.22 |    100.00  

-----------+----------------------+---------- 

        27 |         9         13 |        22  

           |     40.91      59.09 |    100.00  

-----------+----------------------+---------- 

        64 |        10          8 |        18  

           |     55.56      44.44 |    100.00  

-----------+----------------------+---------- 

     Total |        42         28 |        70  

           |     60.00      40.00 |    100.00  

 

          Pearson chi2(3) =   6.9679   Pr = 0.073 

                    gamma =   0.3266  ASE = 0.166 

 

 

 

-> tabulation of luseoft2 by bicomphigh2   

 

+----------------+ 

| Key            | 

|----------------| 

|   frequency    | 

| row percentage | 

+----------------+ 

 

           |      bicomphigh2 

  luseoft2 |         0          1 |     Total 

-----------+----------------------+---------- 

         1 |        14          7 |        21  

           |     66.67      33.33 |    100.00  

-----------+----------------------+---------- 

         8 |         6          3 |         9  

           |     66.67      33.33 |    100.00  

-----------+----------------------+---------- 

        27 |         7         15 |        22  

           |     31.82      68.18 |    100.00  

-----------+----------------------+---------- 

        64 |         5         13 |        18  

           |     27.78      72.22 |    100.00  

-----------+----------------------+---------- 

     Total |        32         38 |        70  

           |     45.71      54.29 |    100.00  

 

          Pearson chi2(3) =   9.3524   Pr = 0.025 

                    gamma =   0.4903  ASE = 0.148 

 

 

 



 
 

 

-> tabulation of luseoft2 by bicomphigh3   

 

+----------------+ 

| Key            | 

|----------------| 

|   frequency    | 

| row percentage | 

+----------------+ 

 

           |      bicomphigh3 

  luseoft2 |         0          1 |     Total 

-----------+----------------------+---------- 

         1 |        13          8 |        21  

           |     61.90      38.10 |    100.00  

-----------+----------------------+---------- 

         8 |         6          3 |         9  

           |     66.67      33.33 |    100.00  

-----------+----------------------+---------- 

        27 |         6         16 |        22  

           |     27.27      72.73 |    100.00  

-----------+----------------------+---------- 

        64 |         3         15 |        18  

           |     16.67      83.33 |    100.00  

-----------+----------------------+---------- 

     Total |        28         42 |        70  

           |     40.00      60.00 |    100.00  

 

          Pearson chi2(3) =  12.4333   Pr = 0.006 

                    gamma =   0.5728  ASE = 0.136 

 

 

 

 

 

 

 

 

 

 



 
 

hireg mobilcomp1 (female age) (yesotherinf awareness) (healthprob fresymptoms2) 

(luseoft2), r(beta) 

 

Model 1: 

   Variables in Model:   

   Adding            : female age  

      Source |       SS       df       MS              Number of obs =      70 

-------------+------------------------------           F(  2,    67) =    4.57 

       Model |  24.2557766     2  12.1278883           Prob > F      =  0.0138 

    Residual |  177.922312    67   2.6555569           R-squared     =  0.1200 

-------------+------------------------------           Adj R-squared =  0.0937 

       Total |  202.178089    69  2.93011723           Root MSE      =  1.6296 

 

------------------------------------------------------------------------------ 

  mobilcomp1 |      Coef.   Std. Err.      t    P>|t|                     Beta 

-------------+---------------------------------------------------------------- 

      female |  -.0067726    .414759    -0.02   0.987                -.0018718 

         age |   .0448826   .0148522     3.02   0.004                 .3464015 

       _cons |   -1.84309    .652806    -2.82   0.006                        . 

------------------------------------------------------------------------------ 

 

Model 2: 

   Variables in Model: female age   

   Adding            : yesotherinf awareness  

      Source |       SS       df       MS              Number of obs =      70 

-------------+------------------------------           F(  4,    65) =    3.93 

       Model |  39.3678004     4  9.84195011           Prob > F      =  0.0064 

    Residual |  162.810289    65  2.50477367           R-squared     =  0.1947 

-------------+------------------------------           Adj R-squared =  0.1452 

       Total |  202.178089    69  2.93011723           Root MSE      =  1.5826 

 

------------------------------------------------------------------------------ 

  mobilcomp1 |      Coef.   Std. Err.      t    P>|t|                     Beta 

-------------+---------------------------------------------------------------- 

      female |  -.0338426    .404787    -0.08   0.934                -.0093532 

         age |   .0410144    .014577     2.81   0.006                 .3165471 

 yesotherinf |    .717243   .3816962     1.88   0.065                 .2102408 

   awareness |   .1343096   .0955641     1.41   0.165                 .1593799 

       _cons |  -2.983501   .8771849    -3.40   0.001                        . 

------------------------------------------------------------------------------ 

R-Square Diff. Model 2 - Model 1 = 0.075   F(2,65) =  3.017  p = 0.056 

 

Model 3: 

   Variables in Model: female age  yesotherinf awareness   

   Adding            : healthprob fresymptoms2  

      Source |       SS       df       MS              Number of obs =      70 

-------------+------------------------------           F(  6,    63) =    6.72 

       Model |  78.9024421     6   13.150407           Prob > F      =  0.0000 

    Residual |  123.275647    63   1.9567563           R-squared     =  0.3903 

-------------+------------------------------           Adj R-squared =  0.3322 

       Total |  202.178089    69  2.93011723           Root MSE      =  1.3988 

 

------------------------------------------------------------------------------ 

  mobilcomp1 |      Coef.   Std. Err.      t    P>|t|                     Beta 

-------------+---------------------------------------------------------------- 

      female |  -.5662852   .3775004    -1.50   0.139                -.1565064 

         age |   .0313234   .0132198     2.37   0.021                 .2417525 

 yesotherinf |   .8847083   .3422806     2.58   0.012                 .2593288 

   awareness |   .0723941   .0874171     0.83   0.411                 .0859072 

  healthprob |   .4908396    .358137     1.37   0.175                 .1434619 

fresymptoms2 |   .5986746   .1560022     3.84   0.000                  .428227 

       _cons |  -3.731643    .793137    -4.70   0.000                        . 

------------------------------------------------------------------------------ 

R-Square Diff. Model 3 - Model 2 = 0.196   F(2,63) = 10.102  p = 0.000 

 



 
 

Model 4: 

   Variables in Model: female age  yesotherinf awareness  healthprob 

fresymptoms2   

   Adding            : luseoft2 

      Source |       SS       df       MS              Number of obs =      70 

-------------+------------------------------           F(  7,    62) =    6.14 

       Model |  82.7768762     7   11.825268           Prob > F      =  0.0000 

    Residual |  119.401213    62  1.92582601           R-squared     =  0.4094 

-------------+------------------------------           Adj R-squared =  0.3427 

       Total |  202.178089    69  2.93011723           Root MSE      =  1.3877 

 

------------------------------------------------------------------------------ 

  mobilcomp1 |      Coef.   Std. Err.      t    P>|t|                     Beta 

-------------+---------------------------------------------------------------- 

      female |  -.4884276   .3785064    -1.29   0.202                -.1349886 

         age |   .0314813   .0131154     2.40   0.019                 .2429711 

 yesotherinf |   .8119236   .3434201     2.36   0.021                 .2379939 

   awareness |   .0690028   .0867564     0.80   0.429                  .081883 

  healthprob |    .451036   .3564017     1.27   0.210                 .1318282 

fresymptoms2 |   .5483238   .1587833     3.45   0.001                 .3922115 

    luseoft2 |   .0100683   .0070984     1.42   0.161                 .1452013 

       _cons |  -3.828129   .7897785    -4.85   0.000                        . 

------------------------------------------------------------------------------ 

R-Square Diff. Model 4 - Model 3 = 0.019   F(1,62) =  2.012  p = 0.161 

 

 

Model  R2      F(df)              p         R2 change  F(df) change       p 

   1:  0.120   4.567(2,67)        0.014 

   2:  0.195   3.929(4,65)        0.006     0.075      3.017(2,65)        0.056 

   3:  0.390   6.721(6,63)        0.000     0.196     10.102(2,63)        0.000 

   4:  0.409   6.140(7,62)        0.000     0.019      2.012(1,62)        0.161 

 

hireg mobilcomp2 (female age) (yesotherinf awareness) (healthprob fresymptoms2) 

(luseoft2), r(beta) 

 

Model 1: 

   Variables in Model:   

   Adding            : female age  

      Source |       SS       df       MS              Number of obs =      70 

-------------+------------------------------           F(  2,    67) =    0.91 

       Model |  4.22055741     2  2.11027871           Prob > F      =  0.4086 

    Residual |  155.867213    67  2.32637632           R-squared     =  0.0264 

-------------+------------------------------           Adj R-squared = -0.0027 

       Total |  160.087771    69  2.32011262           Root MSE      =  1.5252 

 

------------------------------------------------------------------------------ 

  mobilcomp2 |      Coef.   Std. Err.      t    P>|t|                     Beta 

-------------+---------------------------------------------------------------- 

      female |   .3963592   .3882022     1.02   0.311                 .1231044 

         age |   .0119343   .0139012     0.86   0.394                 .1035114 

       _cons |   -.620904   .6110072    -1.02   0.313                        . 

------------------------------------------------------------------------------ 

 

Model 2: 

   Variables in Model: female age   

   Adding            : yesotherinf awareness  

      Source |       SS       df       MS              Number of obs =      70 

-------------+------------------------------           F(  4,    65) =    3.05 

       Model |    25.29101     4  6.32275249           Prob > F      =  0.0229 

    Residual |  134.796761    65  2.07379632           R-squared     =  0.1580 

-------------+------------------------------           Adj R-squared =  0.1062 

       Total |  160.087771    69  2.32011262           Root MSE      =  1.4401 



 
 

 

------------------------------------------------------------------------------ 

  mobilcomp2 |      Coef.   Std. Err.      t    P>|t|                     Beta 

-------------+---------------------------------------------------------------- 

      female |    .338599   .3683201     0.92   0.361                 .1051648 

         age |   .0065289   .0132638     0.49   0.624                 .0566279 

 yesotherinf |   .6509809   .3473095     1.87   0.065                 .2144406 

   awareness |   .2085283   .0869548     2.40   0.019                 .2780864 

       _cons |  -2.199533     .79816    -2.76   0.008                        . 

------------------------------------------------------------------------------ 

R-Square Diff. Model 2 - Model 1 = 0.132   F(2,65) =  5.080  p = 0.009 

 

Model 3: 

   Variables in Model: female age  yesotherinf awareness   

   Adding            : healthprob fresymptoms2  

      Source |       SS       df       MS              Number of obs =      70 

-------------+------------------------------           F(  6,    63) =    4.15 

       Model |  45.3468731     6  7.55781219           Prob > F      =  0.0014 

    Residual |  114.740898    63  1.82128409           R-squared     =  0.2833 

-------------+------------------------------           Adj R-squared =  0.2150 

       Total |  160.087771    69  2.32011262           Root MSE      =  1.3495 

 

------------------------------------------------------------------------------ 

  mobilcomp2 |      Coef.   Std. Err.      t    P>|t|                     Beta 

-------------+---------------------------------------------------------------- 

      female |   .0611835   .3641983     0.17   0.867                 .0190029 

         age |    .007788    .012754     0.61   0.544                 .0675482 

 yesotherinf |   .8354248   .3302195     2.53   0.014                 .2751985 

   awareness |   .1364643   .0843368     1.62   0.111                 .1819842 

  healthprob |  -.6839637   .3455172    -1.98   0.052                -.2246561 

fresymptoms2 |   .4597428   .1505051     3.05   0.003                  .369561 

       _cons |  -2.551721   .7651889    -3.33   0.001                        . 

------------------------------------------------------------------------------ 

R-Square Diff. Model 3 - Model 2 = 0.125   F(2,63) =  5.506  p = 0.006 

 

Model 4: 

   Variables in Model: female age  yesotherinf awareness  healthprob 

fresymptoms2   

   Adding            : luseoft2 

      Source |       SS       df       MS              Number of obs =      70 

-------------+------------------------------           F(  7,    62) =    4.45 

       Model |  53.5493777     7   7.6499111           Prob > F      =  0.0005 

    Residual |  106.538393    62  1.71836118           R-squared     =  0.3345 

-------------+------------------------------           Adj R-squared =  0.2594 

       Total |  160.087771    69  2.32011262           Root MSE      =  1.3109 

 

------------------------------------------------------------------------------ 

  mobilcomp2 |      Coef.   Std. Err.      t    P>|t|                     Beta 

-------------+---------------------------------------------------------------- 

      female |   .1744679   .3575377     0.49   0.627                 .0541876 

         age |   .0080177   .0123888     0.65   0.520                 .0695407 

 yesotherinf |   .7295216   .3243952     2.25   0.028                 .2403128 

   awareness |   .1315299   .0819503     1.60   0.114                 .1754039 

  healthprob |  -.7418787   .3366577    -2.20   0.031                -.2436789 

fresymptoms2 |   .3864813    .149987     2.58   0.012                 .3106703 

    luseoft2 |   .0146496   .0067051     2.18   0.033                 .2374256 

       _cons |  -2.692111   .7460261    -3.61   0.001                        . 

------------------------------------------------------------------------------ 

R-Square Diff. Model 4 - Model 3 = 0.051   F(1,62) =  4.773  p = 0.033 

 

 

Model  R2      F(df)              p         R2 change  F(df) change       p 

   1:  0.026   0.907(2,67)        0.409 

   2:  0.158   3.049(4,65)        0.023     0.132      5.080(2,65)        0.009 

   3:  0.283   4.150(6,63)        0.001     0.125      5.506(2,63)        0.006 

   4:  0.335   4.452(7,62)        0.000     0.051      4.773(1,62)        0.033 

 

 



 
 

 

. hireg mobilcomp3 (female age) (yesotherinf awareness) (healthprob 

fresymptoms2) (luseoft2), r(beta) 

 

Model 1: 

   Variables in Model:   

   Adding            : female age  

      Source |       SS       df       MS              Number of obs =      70 

-------------+------------------------------           F(  2,    67) =    0.74 

       Model |  3.36582044     2  1.68291022           Prob > F      =  0.4788 

    Residual |  151.423558    67   2.2600531           R-squared     =  0.0217 

-------------+------------------------------           Adj R-squared = -0.0075 

       Total |  154.789378    69  2.24332432           Root MSE      =  1.5033 

 

------------------------------------------------------------------------------ 

  mobilcomp3 |      Coef.   Std. Err.      t    P>|t|                     Beta 

-------------+---------------------------------------------------------------- 

      female |   -.181163   .3826285    -0.47   0.637                 -.057222 

         age |   .0155341   .0137016     1.13   0.261                 .1370203 

       _cons |  -.5791492   .6022345    -0.96   0.340                        . 

------------------------------------------------------------------------------ 

 

Model 2: 

   Variables in Model: female age   

   Adding            : yesotherinf awareness  

      Source |       SS       df       MS              Number of obs =      70 

-------------+------------------------------           F(  4,    65) =    6.97 

       Model |  46.4530775     4  11.6132694           Prob > F      =  0.0001 

    Residual |  108.336301    65  1.66671232           R-squared     =  0.3001 

-------------+------------------------------           Adj R-squared =  0.2570 

       Total |  154.789378    69  2.24332432           Root MSE      =   1.291 

 

------------------------------------------------------------------------------ 

  mobilcomp3 |      Coef.   Std. Err.      t    P>|t|                     Beta 

-------------+---------------------------------------------------------------- 

      female |  -.2379837   .3301966    -0.72   0.474                -.0751693 

         age |   .0086108   .0118909     0.72   0.472                 .0759524 

 yesotherinf |   1.136203   .3113608     3.65   0.001                 .3806302 

   awareness |   .2491419   .0779545     3.20   0.002                 .3378857 

       _cons |  -2.613975   .7155454    -3.65   0.001                        . 

------------------------------------------------------------------------------ 

R-Square Diff. Model 2 - Model 1 = 0.278   F(2,65) = 12.926  p = 0.000 

 

Model 3: 

   Variables in Model: female age  yesotherinf awareness   

   Adding            : healthprob fresymptoms2  

      Source |       SS       df       MS              Number of obs =      70 

-------------+------------------------------           F(  6,    63) =    6.58 

       Model |  59.6416987     6  9.94028312           Prob > F      =  0.0000 

    Residual |  95.1476795    63  1.51028063           R-squared     =  0.3853 

-------------+------------------------------           Adj R-squared =  0.3268 

       Total |  154.789378    69  2.24332432           Root MSE      =  1.2289 

 

------------------------------------------------------------------------------ 

  mobilcomp3 |      Coef.   Std. Err.      t    P>|t|                     Beta 

-------------+---------------------------------------------------------------- 

      female |  -.5429466   .3316484    -1.64   0.107                -.1714946 

         age |   .0028027   .0116141     0.24   0.810                 .0247214 

 yesotherinf |   1.228154   .3007064     4.08   0.000                 .4114339 

   awareness |   .2153036   .0767993     2.80   0.007                 .2919944 

  healthprob |   .3194884   .3146369     1.02   0.314                 .1067207 

fresymptoms2 |   .3368649   .1370538     2.46   0.017                 .2753819 

       _cons |  -3.044018   .6968008    -4.37   0.000                        . 

------------------------------------------------------------------------------ 

R-Square Diff. Model 3 - Model 2 = 0.085   F(2,63) =  4.366  p = 0.017 



 
 

 

Model 4: 

   Variables in Model: female age  yesotherinf awareness  healthprob 

fresymptoms2   

   Adding            : luseoft2 

      Source |       SS       df       MS              Number of obs =      70 

-------------+------------------------------           F(  7,    62) =    6.52 

       Model |  65.6579959     7   9.3797137           Prob > F      =  0.0000 

    Residual |  89.1313823    62  1.43760294           R-squared     =  0.4242 

-------------+------------------------------           Adj R-squared =  0.3592 

       Total |  154.789378    69  2.24332432           Root MSE      =   1.199 

 

------------------------------------------------------------------------------ 

  mobilcomp3 |      Coef.   Std. Err.      t    P>|t|                     Beta 

-------------+---------------------------------------------------------------- 

      female |  -.4459266   .3270274    -1.36   0.178                -.1408499 

         age |   .0029994   .0113316     0.26   0.792                 .0264568 

 yesotherinf |   1.137456   .2967131     3.83   0.000                 .3810497 

   awareness |   .2110777   .0749571     2.82   0.007                 .2862632 

  healthprob |   .2698884   .3079291     0.88   0.384                 .0901525 

fresymptoms2 |   .2741217   .1371879     2.00   0.050                 .2240903 

    luseoft2 |   .0125463    .006133     2.05   0.045                  .206789 

       _cons |  -3.164252   .6823643    -4.64   0.000                        . 

------------------------------------------------------------------------------ 

R-Square Diff. Model 4 - Model 3 = 0.039   F(1,62) =  4.185  p = 0.045 

 

 

Model  R2      F(df)              p         R2 change  F(df) change       p 

   1:  0.022   0.745(2,67)        0.479 

   2:  0.300   6.968(4,65)        0.000     0.278     12.926(2,65)        0.000 

   3:  0.385   6.582(6,63)        0.000     0.085      4.366(2,63)        0.017 

   4:  0.424   6.525(7,62)        0.000     0.039      4.185(1,62)        0.045 

 

 



 
 

http://www.legislation.gov.uk/uksi/2010/1001/contents/made
http://www.euro.who.int/__data/assets/pdf_file/0005/78647/E91843.pdf


 
 



 
 



 
 

http://eurlex.europa.eu/LexUriServ/LexUriServ.do?uri=OJ:L:2008:152:0001:0044:EN:PDF
http://eurlex.europa.eu/LexUriServ/LexUriServ.do?uri=OJ:L:2008:152:0001:0044:EN:PDF
http://www.ncgia.ucsb.edu/projects/spatio-temporal
http://www.ncgia.ucsb.edu/projects/spatio-temporal


 
 



 
 

http://www.itu.int/ITU-D/ict/facts/2011/material/ICTFactsFigures2011.pdf


 
 

http://solo.bodleian.ox.ac.uk/primo_library/libweb/action/display.do?tabs=detailsTab&ct=display&fn=search&doc=TN_sciversesciencedirect_elsevierS0965-8564(06)00025-5&indx=1&recIds=TN_sciversesciencedirect_elsevierS0965-8564(06)00025-5&recIdxs=0&elementId=0&renderMode=poppedOut&displayMode=full&frbrVersion=&dscnt=0&fctN=facet_frbrgroupid&origsort=Relevance&fctV=8199958985079765980&frbg=8199958985079765980&tab=remote&dstmp=1338373842825&srt=Relevance&mode=Basic&cs=frb&vl(freeText0)=ICT%2C+Everyday+Life+and+Urban+Change.+Martin+Dijst%2C+Mei-Po+Kwan+and+Tim+Schwanen&vid=OXVU1
http://solo.bodleian.ox.ac.uk/primo_library/libweb/action/display.do?tabs=detailsTab&ct=display&fn=search&doc=TN_sciversesciencedirect_elsevierS0965-8564(06)00025-5&indx=1&recIds=TN_sciversesciencedirect_elsevierS0965-8564(06)00025-5&recIdxs=0&elementId=0&renderMode=poppedOut&displayMode=full&frbrVersion=&dscnt=0&fctN=facet_frbrgroupid&origsort=Relevance&fctV=8199958985079765980&frbg=8199958985079765980&tab=remote&dstmp=1338373842825&srt=Relevance&mode=Basic&cs=frb&vl(freeText0)=ICT%2C+Everyday+Life+and+Urban+Change.+Martin+Dijst%2C+Mei-Po+Kwan+and+Tim+Schwanen&vid=OXVU1
http://www.londonair.org.uk/LondonAir/apps.aspx


 
 

http://www.pranavmistry.com/projects/sixthsense/
http://www.ons.gov.uk/ons/dcp171778_227158.pdf


 
 



 
 

http://www.the-sra.org.uk/guidelines.htm
http://cyber.law.harvard.edu/publications/2012/public_networks_for_public_safety


 
 

http://www.epa.gov/oar/sect812/feb11/fullreport.pdf

